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{n) of the signal : 6

. Xi{m=(1, 1,01, 1)and ;

El-28 h{n) = (1, -2, =3, ~4) ;

B.E. (Vith Sem, Y (b) Explain the classification of signal In dsp. 4
HCGPAY(EL & Comm .Engg) Exam..20g QM (a) A LTI system is characterized by the :

DIGITAL SIGNAL PROCESS\NG system function : 6 |
P i . . . 1

53 | H{Z}n 3—42-1 ) ) ;

Yk

1.8.5271 41,5272

Find & (n) by using Long Division Mathod
Hmaglvmdalwlsﬁ.nﬂ-cauul.

{b) Calculate z'-tmnsforma and ROC for M i
following : : .

() x(n)= ={1,2, 3,0, 45.5}
(i) x(n =2"u(n--zj,

{a) Use the
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(b} What is the conditien for impuise rESPONSe
of fir fiter to salisfy for constant group and,
phase delay for only consm m m
Qv (a) For given x (n) = (1.2, 3, i, Js.g. 2, 15;-*»
ﬁnd X (k) using D!.F FFT algoritim. . |
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